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SN sEBREE d
M MEAN HECA FAIY X4
Sl BATA T4 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OPE-! 2,500& * 2004 500
405 TtHabF S| 6,000 0 6,000
01 AL EFSHSHI 6,000 0 6,000
ottes +ZE=FI(00,pH, IV EE)
6,000,000& * 14 6,000
s Y IIEER 22 15,180 397,480 A 382,300
201 L2l 6,480 14,560 A 8,080
01 At 22l 1,280 2,560 A 1,280
02k, BHHS SE8 FATY PY(TH Y
LAL) 480
oga= 100,000& * 39 300
OetE 3t 60,000& » 3H 180
ontsot==(Ad2el,4ge) =ZAME
80,000& * 2J 4 + 5& 800
02 =224l 5,200 12,000 26,800
ottsdta=Z(Ad2e] &g )™MIlg
520,000& = 202 = 53 5,200
305 HHal= s 200 0 200
01 Hia=S 200 0 200
OAxd2e| SHEEE =2 200,000 200
402 BIZEXtE0| A 8,500 87,920 AT9,420
02 QI 2HCH & A S HI 8,500 87,920 AT9,420
ontgct==(Ad22|, &4l )2l &y
550,000 » 24 = 5& 5,500
ontgst==(Ad™22],&4el) =HM2lAIE 2K
i 3,000
OdsEIZ & &30 AlZ
300,000 * 20CH = 1/3 = 1/2 1,000
ouwazJ| 500,000 = 2CH = 1/2 500
Oz 2 HMel==A&
60,0002 * 20m * 2J0 4 = 1/2 = 1/2 600
OF&d & HMOUBAIE
500,000& * 204 = 1/2 500
OHFZ =
20,0009 * 20& * 2004 « 1/2 400
QE+HMelAE 2l X 19,000 400 18,600
207 A RO 19,000 0 19,000
01 284 19,000 0 19,000
OS2SHFRANE EX2SHE =8BZE EF
19,000, 000& 19,000
=EINE ALY 456,178 433,132 23,046
401 AIEHI L 2 CHYI 456,178 433,132 23,046
01 A& HI 452,917 430,013 22,904




SN sABRR BRI
Hu: ABAN MECA XM XA
Sl BATA T4 (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFZEMLAAMNL(XNETHH) 452,917 ,000& 452,917
03 Al 201 Y] 3,261 3,119 142
OAI& 20| 3,261,000 3,261
cEIS AL 22,000 725,800 703,800
207 AT OH £ h| 22,000 19,000 3,000
01 A& 22,000 19,000 3,000
Ot 2Es2el Al oy = Ot
18,000,000& 18,000
O0Ad =& 2LHE 4,000,000& 4,000
Sdotn AEs FHAH-2 42,284 5,850 36,434
101 @121l 17,364 0 17,364
04 JI2ZtH 22 XNHEE =+ 17,364 0 17,364
OHIAMRE JI2ZtHZ22 X+ 17,364
oJl=3 48,2803 * 19 = 26 * 12& 15,064
OY &SIyl 200,000& * 23] 400
O=XNEUE 300,000& = 13| 300
O=30d=8g=2 15,064,000& * 4.5% 678
OR0ALBELYI
15,064,000& * 2.995% 452
O RABEHEHZ 452,000& * 6.55% 30
OLESEERE= 15,064,000& * 1.5% 226
OMMEERE= 15,064,000& * 1.42% 214
201 LEt2 A Y| 12,920 5,850 7,070
01 AFR2t2l bl 12,920 5,850 7,070
OL2tEH =2 20,000& * 5021 1,000
OFIHZHSRE WEBSLEZ
100,000& * 40Y 4,000
OSIHEEX =2 30,000& = 12& 360
OMALETSE 2 330,000& = 2A 660
OXNE3EUAN BHEE 228 7Y 500
O&E 4 200,000& * 12+ A 200
oced 100,000& * 3AMIE 300
OYRENN ROl 10,000& * 802 * 83 6,400
203 PR =&Y| 6,000 0 6,000
03 A=A SR =AH| 6,000 0 6,000
ostd &z GRF=A 6,000,000 6,000
405 XhAHE S| 6,000 0 6,000
01 At = S F SHI 6,000 0 6,000
OXNETYAN HEZ d3H2) 2L
6,000,000& * 1CH 6,000
9D RS UOIBE XA 1,270,450 1,093,980 176,470




SN BEBRS HEEAY
M MEAN HECA FAIY X4
SH9l: 9D JWRe OPIIBY X4 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 343,250
= 52,800
Al 874,400
HANAXNZHE S ALY 492,000 487,000 5,000
= 120,000
< 36,000
Al 336,000
402 SI2FXHE0| & 492,000 487,000 5,000
2 120,000
& 36,000
Al 336,000
01 QIZEXIE2AIE 2 X 492,000 487,000 5,000
OFdAHIIA-BIOIBEZIE 2L XS
60,000,000 = 2CH 120,000
= 60,000
& 18,000
Al 42,000
OFAHAINAHA 2 XA
12,000,000& = 31CH 372,000
= 60,000
& 18,000
Al 294,000
ol &€ NSXEHSOEA 22l 394,206 262,456 131,750
201 Bt 4d9 ]| 259,156 259, 156 0
01 AP 22| H| 252,720 252,720 0
OWIIEHMNSE A= U4
7,000,000& * 4CH =~ 9€ 252,000
OXNSXHEINASHI HEZA =2 720
OZEWA HA=EHD| 250,000 = 1CH 250
OCO/HC =& 0| 200,000 = 1CH 200
OH=E=XEE HIC2otH 2t 120,000& = 1CH 120
Ol =2y 248 & A
50,000& = 34 150
02 2% H| 6,436 6,436 0
O A& 28 KXYl 1,377
OX=ESXHIE LA CO/HCE A D)
9,424,000 * 6% 566
OXSXHIEIIA HHA=H D]
13,510,000 * 6% 811
03322 % HA 760
OXs XA 170,000& = 1CH 170
OXsxes 500,000 = 1CH 500
OetFNEeEg=2 45,000 = 23| 90
OXEABd (=48], RFHI)
4,299,000& = 1CH 4,299
202 04| 1,800 0 1,800




Zpol=e SR
SN HHCA ZXI|E XA
9D B! WIIBY XA (9l ® )
- _ _ RE!
SA - B .G (3AH) - MBAY - BES gﬁ‘&i HR=2
01 2L Y] 1,800 0 1,800
OWIIEd HR=X 20,000 = 3¥ = 30« 1,800
206 M = dl 3,250 3,300 A B0
01 X2 Hl 3,250 3,300 AB0
OsA=HAH JIANM 2L 3,250
ONOHICIR G2 HOIZ (LS R)
50,000& * 60H 3,000
Sel- (1) 2,500 * 1004 250
207 I & 130,000 0 130,000
01 A2 ES Y| 130,000 0 130,000
OFZA DMK SH24 L IR KA
H Ol 24 130,000, 000& 130,000
285 - Ns 22l 1,032 1,032 0
201 LBt ]| 1,032 1,032 0
01 At 22l ] 132 132 0
OASNESHI| HTAM 222
44 000& = 3CH 132
02 3524l 900 900 0
028 S=8I| wA22H 300,000& = 3CH 900
EBHEEEAEAY 2Y9 71,892 67,692 4,200
201 et A H| 71,892 67,692 4,200
01 At 22l ] 6,120 6,120 0
OOIMEXN ¥ QEASH 29 222
1,000& = 1,5000H 1,500
OBASEAIEA Sty
7,000& * 2% * 80 1,120
OWIAFZE =&Y DI
3,500,000 = 1CH 3,500
02 B232%H| 65,772 61,572 4,200
OAAS SHYSTE MBE MIIAZE (1M
) 250,000 = 12& 3,000
OAAS SHUHSCE D SAQZ (290
) 100,000& = 12& 1,200
OUIIENMTT MIIMER2(2MA)
950,000 = 12& 11,400
OHIQANZT SAQI(LH IS
130,000& = 12& 1,560
Ol IHEAZT X2l (2 A)
1,200,000& * 2 A = 128 28,800
OB ZEsAEA Y QA Z2IH (2HA) 19,812
OAE U Z 115,292,000& * 6% 6,918
O EstekX| 214,900,000& * 6% 12,894
SAY AsAHH AXALE 117,600 233,800 AN 116,200




SN BEBRS HEEAY
M I FFETA FEIIG =4
SH9l: 9D JWRe OPIIBY X4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 84,000
< 16,800
Al 16,800
402 RI2EX20| A 117,600 233,800 A 116,200
= 84,000
< 16,800
Al 16,800
01 It 2 AL B X 117,600 233,800 A 116,200
OM=AHU AXAS 11,760,000& = 10CH 117,600
= 84,000
< 16,800
Al 16,800
IS ESAY 163,000 22,000 141,000
= 128,000
Al 35,000
402 RIZ2EXt20l M 112,000 22,000 90,000
= 112,000
01 A TtEAEEX 112,000 22,000 90,000
otEsSs8 dIIAsX *LHl X2
12,000,000& = 7CH 84,000
= 84,000
OB SE HIIXNSA SHAE NE
4,000,000& = 7CH 28,000
= 28,000
405 TtHakF S| 51,000 0 51,000
= 16,000
Al 35,000
01 et EFH S 51,000 0 51,000
OIS Y (HIAFEH)
45,000,000 = 1CH 45,000
= 12,000
Al 33,000
OIS SHANL(HIPH)
6,000,000 * 1CH 6,000
= 4,000
Al 2,000
AN DEE ReUAFHZFI| 22| 8,220 0 8,220
201 et 8,220 0 8,220
02 2324l 8,220 0 8,220
ORAUAFH=HI| HI|,SHL3 8,220
OHY 23 100,000& * 12& 1,200
OS4&3(ctolE2E 106:012)
25,000& = 7CH = 128 2,100
OSMS2 Xt S 4123 (TMS 100)
60,000& = 14 » 128 720
o&IJIg3 50,000& = 708 ~ 123 4,200




SN BEBRS HEEAY
M MEAN HECA FAIY X4
Selr &0 WRE HolEed &4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HII0IENES AL 22,500 0 22,500
2 11,250
Al 11,250
402 2I2H X201 M 22,500 0 22,500
= 11,250
Al 11,250
01 B2t AL E X 22,500 0 22,500
oRIZtEZE MII0IEX 2LH XA
2,500,000& = 9CH 22,500
2 11,250
Al 11,250
MEtd ™ FHETA FEIIBx A 2,221,258 4,427,734 A2,206,476
2 661,600
J| 108,000
< 229,280
Al 1,222,378
SAMEE MEs 650,756 2,790,891 22,140,135
= 76,000
Al 574,756
SZMEH NS 2435 84,600 82,200 2,400
201 Let24d] 14,600 12,200 2,400
03 A2 S HI 14,600 12,200 2,400
Ot MW S 14,600
Oxtg gxz 300,000& = 303l 9,000
Ousks 2,000& 5008 1,000
OZ M= 4,600
-JI2 120,000& = 1H = 303l 3,600
- 100,000& = 18 = 102 1,000
307 glz2+ol & 70,000 70,000 0
02 QIZtE M AHE X 70,000 70,000 0
olssd Mgz 29 70,000,000& 70,000
JISHSIHH F& 234,640 213,500 21,140
201 Let24d] 92,640 3,500 89, 140
01 At 22l 52,600 3,500 49,100
OEAZOE Ot & MEAH HH
200& = 10,0000H 2,000
OHHESZ A HHEE AN ¥ Z2LIEHE A=
N ZEHE 50,000,000& 50,000
OHiE& st=Hell A A3l 500,000& 500
OHIEH SIHHNE NAEE JIZHENS M A
Al H] 100, 000& 100
02 =224l 40,040 0 40,040
OHi=a He 40,040




SN BFBRRS HFFHD
k=l

Ha: &

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3 gl s 10,000& * 4,000& 40,000
OiEd Mg+ 2 40,000,000& = 0.1% 40
207 & 00 &l 22,000 90,000 A 68,000
01 2284 22,000 90,000 A 68,000
OHHEANHM HEEA 22,000,000& 22,000
307 glz2+ol & 120,000 120,000 0
02 QIZtE A AHE X 120,000 120,000 0
OJIZHH3HE sMBEI| A=A
120,000, 000& 120,000
EtAEQOIER A Al 116,000 76,000 40,000
= 58,000
Al 58,000
301 et 8= 116,000 76,000 40,000
= 58,000
Al 58,000
NIEEd=s 116,000 76,000 40,000
OEHAZQEN 29 116,000
OQMEE X=s 20,000& = 2,900Al CH 58,000
= 29,000
Al 29,000
OQMEE Xz 10,000& = 5,800AICH 58,000
= 29,000
Al 29,000
JEABHERS JIEt2= 36,000 34,000 2,000
= 18,000
Al 18,000
307 21201 A 36,000 34,000 2,000
= 18,000
Al 18,000
02 QIAHFAAFEX 36,000 34,000 2,000
O=MEZYED 29
36,000,000 = 10024 36,000
= 18,000
Al 18,000
dF M 2 E2RALA =4 179,516 2,385,191 22,205,675
201 LBt 23,716 0 23,716
01 At 22l 23,716 0 23,716
oL (2Uz)MEE 10,043
O=M2AES 2oZ HA242
5,753,000 5,753
OAESUNUX 2252 =28 MR
,290,000& 4,290
ONZIBEYA LMY AR 10,673
OBIOH (S ATH) 18,150 * 844 1,525
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SN BFBRRS HFFHD
k=l

Hu: BEN META ZAI|UEA
Crol mAEE MEs (el @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oga0l=(20l2 HAM) 96,800& * 404 3,872
OEa0/g2(12=2 HAM) 60,500 * 44 242
Ot 2o HA) 121,000& = 4004 4,840
OEZ A HH 48,4003 = 404 194
O & H = AA A EY 3,000,000& * 1JH 3,000
207 AT OH ] 13,750 0 13,750
01 A2 &9l 13,750 0 13,750
OrEH ALEE(2oB) =Y 13,750
O=MAES 2oE 3S 289
8,800,000 8,800
OH2UHUHX e85 2235 S J=84
4,950,000 4,950
405 XtabF S| 142,050 0 142,050
01 AL 2B F SHI 142,050 0 142,050
oNZBEAA ZAMY JINM FLOIRR) 107,530
O M2 &0 A 345,000& * 34 1,035
Os0oteld gog Xt 300,000& * 24 600
O N EEH A 310,000& * 1H 310
OB A CH 273,000& = 1JH 273
OalE 280,000& = 9JH 2,520
o0& 471,000 * 204 9,420
OWEIE(A) 160,000& = 1JH 160
Oomelr&E () 170,000& * 10JH 1,700
OHZEHZ 30,000& * 8JH 240
OWEIE () 150,000& = 10JH 1,500
ozA 315,000& = 3204 10,080
O A & O X} 59,000& =* 36H 2,124
OLHBSAIH(DH) 575,000& = 504 2,875
OLHBH A IFH(A) 446,000& * 504 2,230
OLHBHAIHE) 531,000& = 54 2,655
O4IM I R 200,000& * 9H 1,800
O2EIHHI K 150,000& = 34 450
OAEUH(E) 275,000 = 3204 8,800
oag) 440,000 = 3H 1,320
OAEIRRIEH 446,000& = 184 8,028
OAEQXH(AEAST) 36,000& = 674 2,412
OAMNRE9 X (22X 285,000& = 1JH 285
OD0rZHdt 14,000& * 1104 154
OAMNREIX(ZE) 220,000& = 1204 2,640
OZ Ol A o Xt 111,000& * 564 6,216
O IHEANH s0tel) 211,000& = 2004 4,220
O3 s Xt 150,000& * 6H 900

_9_




SN sABRR BRI

Hu: BEN META ZAI|UEA

ol =MEE M CEEEED

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
osd9&Xt 497,000& = 14 497
Ozl 2okt 155,000 * 8JH 1,240
Ox=2EE T 274,000 * 1504 4,110
OLE M & (22l Xt) 255,000& = 14 255
OLEHA(HH) 245,000 = 404 980
Oa&a Ma 595,000& = 14 595
OXHJ S AHRHA A 200,000& = 204 400
Ox=d4a My 200,000& * 1K 200
OEQA 35log = XH(H) 250,000 * 8M 2,000
OEYY 398 EX(A) 187,0008 84 1,496
O&4 398 &t 385,000& = 104 385
OHEHo=(E) 180,000 * 14 180
o1z i 386,000& = 404 1,544
Oozg 800,000& * 204 1,600
O0lsME 145,000& * 8 1,160
O=22g Hx 240,000& * 8K 1,920
Oor2d ol 512,000& = 24 1,024
OJEHOE(L) 166,000& * 14 166
OS0IEEE 201,000& * 44 804
O 1t 110,000& * 1204 1,320
OSEEX 220,000& * 204 440
ObetRelE 302,000& = 1H 302
OsttE=2d . 2% 190,000 * 14 190
OAZH 2,785,000& = 204 5,570
OoXzda3a 415,000& = 14 415
Ogaztaol 226,000& = 14 226
OFSE=S-=3SIp; 88,000& * 1JH 88
OdZAU (s =&=&0l)  137,000& * 204 274
Otdaste 111,000& * 24 222
O2t2d 785,000& * 204 1,570
OZUEot2d 1,410,000& * 14 1,410
OHDISEAA LMY JIXMN P (HXHS
) 34,520
Oz &=d 1,400,000 * 11CH 15,400
OYWZ 1 (500L0] &) 800,000& =« 4CH 3,200
OWE D (100L014}) 200,000& =« 1CH 200
OZYEIDICIN Ea &0l (40~15008H )
4,820,000 * 10K 4,820

OLEDZ LIE (6021 1) 1,600,000& = 1JH 1,600
O&ER= AL 5,000,000& =« 1CH 5,000
OZEH(A3EE Zet) 3,500,000& = 1CH 3,500
OZBH(MEHNSE) 800,000& = 1CH 800




SN BEBRS HEEAY
M MESAN HECA ZTI|GFA
el MEICAl BREA (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
MENC Al S#EXH 1,570,502 1,636,843 N 66,341
= 585,600
J| 108,000
o 229,280
Al 647,622
Egdu Y & 2| 540 540 0
206 M EHl 540 540 0
01 X Z Hl 540 540 0
OEL22AE Al MA=DI 6,000 = 90K 540
A AEN EXAFS AlA| 4,010 4,060 B0
201 LBt 1,210 2,060 A 850
01 AP 22| H| 1,210 2,060 A 850
ONHMEENES =& 1,210
Os =9 70,000 * 1304 910
OB 8¢ 300 *« 1,0000H = 13| 300
202 04d| 1,800 0 1,800
01 2L I 1,800 0 1,800
OXNHEHX AR2FX 20,000& = 3% » 30 1,800
206 M 2 dl 1,000 2,000 A 1,000
01 =4l 1,000 2,000 A 1,000
ONCMEEHES TP
1,000,000& = 13 1,000
OflsES - Al B2 =48 104,118 99,243 4,875
101 @1 21| 57,418 57,743 AN 325
04 JI2tHIZ22NSEES 57,418 57,743 N 325
O0IME=2 Esd B4 57,418
OelAdl 54,050 * 8" x 120¥ 51,888
[OFaRAgh=N" 51,888,000& * 3.035% 1,575
O&IYEE =2 1,575,000 * 6.55% 104
O=DAZRE= 51,888,000& * 4.5% 2,335
onEEs 51,888,000 * 1.5% 779
OMTEESE 51,888,000 * 1.42% 737
201 et 2,700 2,400 300
01 AFR 2t 2| bl 2,700 2,400 300
ONtMsSAlS B QOHLY & xat
70,000& * 1000 2 700
OKdlotMEE ot EEES M
100€ * 10,0000H4 1,000
OOMESE HMHEAAARARAJG =&
100,000 * 5% « 23| 1,000
206 M = dl 5,500 6, 100 A 600
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SN sABRR BRI
M ABAN BECA ZRIBEY
el MEIC Al BIAXA CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ2=staa 2SS (3EAX 255)
200,000& » 1004 2 2,000
SSeEY 22 4,500 4,500 0
201 £B-2dH| 4,500 4,500 0
01 At 22l 4,500 4,500 0
O0lsA st&EA A 450,000 * 1000 2 4,500
ST of 2 & 120,000 120,400 A 400
J| 108,000
= 2,400
Al 9,600
301 LEtE A= 120,000 120,000 0
J| 108,000
< 2,400
Al 9,600
01 MEIBEZE 05z 120,000 120,000 0
OoXdIol AEX M =™ 120,000, 000& 120,000
J| 108,000
< 2,400
Al 9,600
O =2 Ilohoe 66,900 62,400 4,500
= 31,200
< 9,360
Al 26,340
206 = Hl 4,500 0 4,500
01 MHZ 4l 4,500 0 4,500
OOt ES= moll e & X2l
1,500,000 * 34 4,500
402 RIZ2HXt20l ™ 62,400 62,400 0
= 31,200
< 9,360
Al 21,840
01 A TtEAEEX 62,400 62,400 0
OOt == HoHMEAlE &X 62,400,000 62,400
= 31,200
< 9,360
Al 21,840
OrM=2 Iloi 24 23,334 34,500 A 11,166
< 7,000
Al 16,334
301 gEtE L= 23,334 34,500 A 11,166
< 7,000
Al 16,334
1MIIEBELSS 23,334 34,500 A 11,166
OOt ESE 0l 28 Iol =24 23,334,000& 23,334
< 7,000




s BARMY
HEAN HHCA ZRIIGEH
MENE Al BHZEH (B9 ®R)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
| Al 16,334
MEHH DS M= & X 49,300 49,100 200
& 28,600
Al 20,700
101 Q121 H| 28,600 28,600 0
= 28,600
04 JI2ZtHIZ22NEES 28,600 28,600 0
OMEHH WE OrM=EAIZE E X 28,600,000 28,600
& 28,600
206 M = dl 700 500 200
01 X2 H| 700 500 200
O&Z 2 5 2 700,000& 700
307 212t0| & 20,000 20,000 0]
04 SIZ2ISHAAISHE E X 20,000 20,000 0
OMENH DA ZEIX =2 SHIYAUS
20,000,000 20,000
SHOIEME AEAS 1,109,800 1,176,000 A 66,200
= 554,400
& 166,320
Al 389,080
201 et d| 1,000 0 1,000
01 AP 2t 2] H| 1,000 0 1,000
OEE=SH & 200 = 5,0000H 1,000
403 XX SHHS K20 & 1,108,800 1,176,000 NB67,200
= 554,400
o= 166,320
Al 388,080
02 BI2SOHUSA=2EUSEAISHI 1,108,800 1,176,000 NB7,200
OZ=d0oIEM™Me XA 1,108,800,000& 1,108,800
= 554,400
= 166,320
Al 388,080
OfMEZE Oloe e XA 52,000 52,000 0
& 15,600
Al 36,400
201 gEt24Hy| 14,400 14,400 0
& 4,320
Al 10,080
02 232%H4| 14,400 14,400 0
ONM=ESE Il 22 (60Y)
14,400,000 14,400
&< 4,320
Al 10,080
206 M = dl 25,600 25,600 0




SN BEBI 2R BAEYY
HE: ABBN BYCA EZTI|UEA
MEHE A BEEH CREED
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
= 7,680
Al 17,920
01 X2 H| 25,600 25,600 0
OPHE AE, A8 = S AHFY
25,600,000 25,600
& 7,680
Al 17,920
301 LBt A= 12,000 12,000 0
& 3,600
Al 8,400
11 JIEtE A= 12,000 12,000 0
OXNEFRHY RFH| 12,000,000& 12,000
= 3,600
Al 8,400
2P (P2 =28 A 318,289 315,232 3,057
oA 2AY| 249,549 0 249,549
214l 249,549 0 249,549
101 2121 H] 249,549 0 249,549
01 2= 249,549 0 249,549
oOxUI2RE 249,549
OYural 8,930& * 76Y * 30Al2F = 128 244 325
OHJYIEHE 8,221& * 1 * 25AI2F « 12€ 2,467
OetAIIM(CIE)
* 30Al2t « 12€ 2,757
=&t 68,740 315,232 A 246,492
o= Al 68,740 315,232 246,492
201 et | 25,100 22,294 2,806
01 AP 22| d| 25,100 22,294 2,806
OJlE2ge4Lst SsAHH (JI=Hdl)
12,500,000 12,500
OFEELIPIE==L1D] 12,600,000& 12,600
202 044l 27,000 27,000 0
01 2L I 27,000 27,000 0
OJl&=Z& | 27,000,000 27,000
203 € R F & 12,640 16,490 N 3,850
01 JI22HYRFAH| 3,300 3,300 0
(OPJREaye:Re ey 3,300
QJI&=H(43) 3,300,000& 3,300
02 AAAIPAAH 2= XY 5,140 4,990 150
OFRINAS L2 5,140
QI Z=H(100H Nt 40,0008 = 100H 4,000
OJ1 =M (400X Nt 30,0008 * 38%H 1,140
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SN sABRR BRI
HE: HFRARY (BP AR AP
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 EANSHLRF=AH| 4,200 4,200 0
ORANSELERF=AH| 4,200
OJI&=H(H& 3000lal) 350,000& « 12& 4,200
405 X+HaHF SHI 4,000 0 4,000
01 A&t = S F SHI 4,000 0 4,000
OS2 M MIED| 500,000& * 1CH 500
OoMRZEE ZetZelH 3,500,000& * 1CH 3,500
MEEsS(stdaeizse P33 115,000 166, 160 A51,160
WEHN XK= 115,000 166, 160 A51,160
WEAHHX = 115,000 166, 160 A51,160
701 JIEIS HSHES 115,000 166, 160 A51,160
01 JIEtSHNME= 115,000 166, 160 A51,160
OU&ES s THHEE 22| 70,000,000& 70,000
©2015" @Iz AI#AHE ol &= It
45,000,000& 45,000




N & O & AF Y A9 N A
20169 &= 20l & LB N SFA22R SFEHHY ~ SF A2 St Hel
2H: sABRS HAFHY
HE: 9D HRe HEZA H2F= 4
SHel: 365 THRE HF (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
st NJE 23,877,335 32,742,377 N 8,865,042
= 1,583,000
S 3,000,000
= 436,083
Al 18,858,252
St Rt FEEZA EF XM 23,835,745 32,666,782 N 8,831,037
= 1,583,000
S 3,000,000
< 436,083
Al 18,816,662
365 MRE H= 10,058,901 9,102,536 956,365
st H 22 703,949 566, 348 137,601
101 @121l 502,319 0 502,319
03 RIHAEZZAE 192,618 0 192,618
ostd &2 d U=l 192,618
O = 90,000 » 261¥H * 63 140,940
Oodst=s 100,000& = 261¥ = 13 26,100
O& xR 10,000& * 261 = 13 2,610
OotH 3t 60,000& = 261Y * 13 15,660
O &3t 13,000& * 261 = 13 3,393
[@F=3=] 15,000& * 261 * 13 3,915
04 JIZtHIZ2E2XNESE 309,701 0 309,701
o=t &2|d AFDAl X
69,900 » 149 » 262 « 11& 279,880
OANSEgE 82 29,821
olnsEsgseg=2 279,880,000& * 1.5% 4,199
OMNEsEEHE= 279,880,000 * 1.42% 3,975
O=UAZIEE S 279,880,000 * 4.5% 12,595
OoAdEgE=2 279,880,000& = 3.035% 8,495
O AEEHELZS 8,495,000& * 6.55% 557
201 et | 25,510 16,700 8,810
01 A2 22| 10,840 8,760 2,080
OXAX XZ(HEHIIAE Xel)
60,0008 *» 83| » 12& 5,760
OSZALJAIRA JI=2dR &ZHl
3,000,000 3,000
Ot JHEH SY9AS 280,000& =* 43| 1,120
OF£I| dx= 40,0008 = 204 = 128 960
03 S AIS H I 14,670 1,380 13,290
OstZ 223 £ LA AL 14,670
(@)= 70,000& = 13 70
O ALE 3t& 100,000& * 13 100
OoZEOIY ¢ 100,000 * 1090 = 13 1,000
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SN BFRRS HEIHY
HE: oD RS BECA BFE X4
chel: 365 MRS HF (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O2Z AHIH 150,000& = 1000 = 13l 1,500
OEI&ET AZ NS 1,200,000& * 109 12,000
203 PR =&l 3,000 3,000 0
03 Al =X A2 =XH| 3,000 3,000 0
ostz A g2 =2 3,000,000& 3,000
301 L2 A= 149,370 97,360 52,010
09 HALAHIE& S 149,370 97,360 52,010
ogd&cd A& sfelAs Kyl
2,200,000 » 25 * 13| 55,000
ogd&eld s gEE HMslial
70,000& » 2614H 18,270
ogdacd dAXASE AIS
100,000& = 261H = 13l 26,100
OFUEY AT HAMANE (RS
2,500,000& = 209H 50,000
401 Al& I 28I 13,500 441,522 AN 428,022
01 A& HI 13,500 422,500 A 409,000
ogZaeld MR Z DX AES=AH
5,000,000& = 14l 5,000
ozl HH FHY S (MEF)
5,000,000& = 14 5,000
OstZ2elJdHEH 23 HIY Ex3 At
3,500,000& =« 14 3,500
405 RHoHF S HI 10,250 7,766 2,484
01 XY 2 ZF S| 10,250 7,766 2,484
ostz ey 257 10,250
O & 200,000& = 694 1,200
[@XIpN; 300,000& * 304 900
ONMEE 200,000& = 24 400
OAI(328) 500,000 = 14 500
OotXgstHel(XZH )
500,000& =« 1CH 500
odzn 500,000& = 1CH 500
O2 MM &I 1,000,000& * 1CH 1,000
o8 250,000 = 104 250
OgdmHal 2,500,000& = 2CH 5,000
MM Il Ml 7,725,318 6,939,646 785,672
201 £B-2dH| 91,630 29,590 62,040
01 At 22l 70,850 6,650 64,200
OFAXZE O0IE2s &2
120,000& * 115CH 13,800
O0t0lE A& Helold EI AM=Z
35,0003 = 5004 1,750




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O0t0lE & &= HAE(AMY HEES)
20,000& = 100< 2,000
OZHE XDl s 22 MZEH
5,000& = 10,0008 50,000
OXYX EBIAZ SHENESF FHAEA A
50& = 5,000MICH * 10& 2,500
OFAREX HEF 800
OFALRSXA EZIM(AIS) 100,000& * 8H 800
02 =224l 20,780 22,940 A2,160
OMES+=AHEEXNT A CCTV SRS
100,000& * 1404 » 128 16,800
OMYIIEHEI ZAl CCTV SEAAE SAR
=2 40,000& = 123 480
OM&s+=Hg ¥ CCTV =Xl
250,000& =« 1404 3,500
202 O4dl 2,000 2,200 A 200
01 = LHA YI 2,000 2,200 A 200
OFAYN +=NXY s&3HA
20,0003 = 2H » 50 2,000
207 A RO 32,000 27,000 5,000
01 2284 32,000 27,000 5,000
OMBHIIS+T2Y Y7 X8 o pog
SO AEE R AR ES 32,000,000& 32,000
301 LAz 59,600 0 59,600
09 A HIE &S 59,600 0 59,600
OZEZ SESAM AHIE4 34,000
OosXa 25,000& * 400A 10,000
(@F=2:iPNI=: 40,000& = 600A 24,000
OAQl BB 2A =& 40,000& = 508 = 5H 10,000
OZ2dot*eA el &0 29
10,000 = 102 = 13M A = 128 15,600
307 glz2tol & 7,505,088 6,872,016 633,072
05 RIZt2lEt = 7,505,088 6,872,016 633,072
OMEHIIES =2 He==x2 7,490,688
O Jtgd
1,2343 = 160,000MICH » 123 2,369,280
Op=Fe Jlol s
1,824 = 100,000MICH = 123 2,188,800
Opsze e
1,636& = 100,000AICH  12& 1,963,200
Og8Xdg ey
2,992& = 27,000MICH » 123 969,408
OUEHIIE & A2E HMel=22t Hols fIE
el ==8 120,000& * 120& 14,400
401 AIEHIZL 201 35,000 8,840 26,160




& 9 i

pel=e G
D OB BACA BFE x4
5 MRe HE

M- BB (BH) - NEAY - BaS ofl &t o SSa HDE2
01 A& HI 35,000 8,840 26,160
ORI ZYEI| 2A CCTV SBALEY 7S
35,000,000 * 14! 35,000
MY Dl EHH =5 HE 2 33 1,629,634 1,407,542 222,092
206 M = Hl 1,628,634 1,406,542 222,092
01 & bl 1,628,634 1,406,542 222,092
OMYIIZHH RHAEE HE 1,628,634
Oogrs 1,381,984
-52l & 29 % 200, 0000H 5,800
-102l 4 36& * 3,280,0000H 118,080
-202I &H 56& % 3,200, 0000H 179,200
-302I & 88& = 300, 0000H 26,400
-502l H 1212 * 2,300, 00004 278,300
-1002! & 218& * 1,347,4000H 293,734
-0HCH (2021E) 330& = 7,0000H 2,310
-0FCH (5021 &) 385& * 320,0000H4 123,200
—-0FCH (10021 &) 580& * 52,0000H 30,160
-THAbE (2021 E) 58 % 5,600, 0000H 324,800
(OF=F=r= 106,650
-502I & 1212 * 400,0000H 48,400
202l (HE=Z2D1) 56& = 100, 0000H 5,600
-50CIE (M&a=22H) 1212 * 100,0000H 12,100
-0FCH (5021 &) 385& = 30,0000H 11,550
—-0FCH (10021 &) 580& * 50,0000H 29,000
(O =INE=2=] 140,000
-202I 5 56& * 2,500, 0000H 140,000
301 YerE A 1,000 1,000 0
11 JIEtE2 A= 1,000 1,000 0
OEYAZEE RS &1 242
500,000& = 23| 1,000
2 Mg JpE 7,969,772 5,666,815 2,302,957
= 31,000
= 73,250
Al 7,865,522
AZ2 HIIZ2 Hel & 2 7,040,092 4,864,310 2,175,782
201 LEr2 Y| 261,831 301,724 ~39,893
01 AtR 22l b 141,002 180,001 A 38,999
OSAEZEZMHIIEZE Mel=2 HEES RO
30& = 2,700,0000H 81,000
OSAEZHIEZE 2 E22 M
200& * 100,0000H 20,000
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SN

3
HE: oD RS BACA
K =]

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
OSZNEE 30| 98BN 248
50,000& * 13l 50
OLHAUA =2 400,000& * 23] 800
OMEZ(3R)HE AlZEHl SXH|
3,514& * 1,501.54m 5,277
206 M = Hl 46,900 12,100 34,800
01 X2 Hl 46,900 12,100 34,800
OHYEZS 2ts 228 2¢
100,000& * 4004 4,000
O0lsa MHEss Eel=Hg 7Y
300,000& * 10JH 2~ 3,000
OHEZS HAEX =HE #*¢
300,000& * 4001 2 12,000
OLBHFEX A MY DI 2s+HE el
1,000,000& * 2004 &~ 20,000
o030H =1s 5 M 7,900
0202l & 56& = 100, 0000H 5,600
05021 & 1213 = 10,0000H4 1,210
01002l & 218& = 5,0000H 1,090
301 dEtEAZ 18,913 838 18,075
09 HAIAHIBEAZ 238 238 0
OFFANIMEEFZXE S MA
7,000& * 179 = 23| 238
11 IIEtE &2 18,675 600 18,075
O18 88 AN AdNEZAZ 40,000& * 15A 600
O=01™ 2= BAZ(EXN X3)
2502 * 10000 * 4304 A& 1,075
oOMEEE =& ZXUG Zi 17,000
Ostw (10J4 ) 8,500
-E 2% 1,500,000& * 200 3,000
-2 1,000,000& * 34 3,000
-&d 500,000& = 5041 2,500
OBsSZFE(1004) 8,500
X2 1,500,000& * 2 A 3,000
-5 1,000,000& * 30 A 3,000
-&d 500,000& * 504 A 2,500
307 212t0| & 10,000 10,000 0
04 QIZHSHALAIE B2 X 10,000 10,000 0
ootUHEIOH LIs&H 10,000,000& 10,000
HHY 1% 2% 341,000 346,500 A5,500
2 31,000
= 62,000
Al 248,000

- 22 -




SN BFBARE VAEHDY
HE: oD RS BECA BFE X4
S HY 4= Jlgtxd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 341,000 346,500 A5,500
= 31,000
< 62,000
Al 248,000
NIJIEEd=s 341,000 346,500 A5,500
O=ZHHY =AHA24 341,000, 000& 341,000
= 31,000
= 62,000
Al 248,000
SE ALY =) 9,840 9,840 0
301 LBtEAF 9,840 9,840 0
MIIEEES3 9,840 9,840 0
OsAYELN B43 9.840
Owclg 120& = 2,000kg 240
Osctad 320& = 30,000kg 9,600
SASFRHIIS HEAZI XA 417,800 410,000 7,800
401 AIEHI L 2 CHYI 417,800 410,000 7,800
01 A& HI 417,800 410,000 7,800
OSAMNERHIIE MNEAHSI XA
2,089,000& = 200CH 417,800
sUuUY 2018 XK 37,500 0 37,500
< 11,250
Al 26,250
206 M= Hl 37,500 0 37,500
< 11,250
Al 26,250
01 M2 4l 37,500 0 37,500
OsAEIHE=HE ZXAY
500,000& * 754 & 37,500
< 11,250
Al 26,250
HFE HolS2el 30,364 32,620 N2,256
HIOISX2I At E 22 30,364 32,620 N2,256
201 24| 20,164 22,420 N2,256
01 At 2t 2l 15,280 15,280 0
QHII2 NEEHdE |2
8,000& = 5& = 12& 480
OZNFL(HIIS2E BE2MH)
100,000& * 28 200
O=SYMEHIIS Mels==2
300,000& * 10& 3,000
O=SHMEHII S 2=&H X2
400,000& * 1 = 23] 800
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SN BZBRALE VAEFYY
Bu: gD WRE BATA HF X4
& HFEE HolS2el (SH9: &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHJIE 4224 dZ+==2
300,000& = 63l 1,800
OHJIZE BHE XMel =g M=
3,000& * 3,000% 9,000
02 =224l 4,884 7,140 N2,256
O Xt& & B 4,884
OJIEH(~ESE) 4,299,000&  1CH 4,299
OXtstAM 50,000& = 1CH = 13 50
O2dg=z 400,000 * 1CH = 13 400
OXsx ZAZ 55,000& = 1CH = 13 55
O RES 40,0008 = 104 = 23l 80
202 04 Hl 10,200 10,200 0
02 A0 10,200 10,200 0
QHIISNEEHE =&
170,000& = 53 » 12& 10,200
HII2 MelAMd &5 5,776,708 17,864,811 A 12,088,103
= 1,552,000
s 3,000,000
= 362,833
Al 861,875
W ZAEE SLEAY 5,175,333 2,218,667 2,956,666
= 1,552,000
s 3,000,000
< 362,833
Al 260,500
203 YR =2 2,000 2,000 0
03 Al =AY R =&Y 2,000 2,000 0
OUEAIE SHEAY 2R =& 2,000,000& 2,000
401 Al HI K 201 I 5,173,333 2,216,667 2,956,666
= 1,552,000
= 3,000,000
< 362,833
Al 258,500
01 A& HI 5,100,833 1,913,332 3,187,501
OFT ZIMEBAE 2HTASY
5,100,833,000& 5,100,833
= 1,552,000
= 3,000,000
< 362,833
Al 186,000
02 Zeldl 60,000 298,540 A 238,540
OBZH BAWMTAL HTAY 222
60,000,000& 60,000
03 Al 2 THHI 12,500 4,795 7,705
OBZH BAWTAL LIAY ALY
12,500, 000& 12,500
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SN

3
M ootD WRE HACA

e
el HIIE MoAE &= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EFA Mo ZdAY 130,000 182,000 A52,000
403 UHXISHHSA=0l& 130,000 0 130,000
02 I 2S0ICHet X=X 0H & A H 130,000 0 130,000
OM2MHEE EBHEEEIMNEY HE 22
130,000, 000& 130,000
ZUHYE 2EYSA OIS FTUSAAY 471,375 879, 144 407,769
401 AIEHI L 20 471,375 879,144 A 407,769
01 A& tl 468,135 873,096 A 404,961
OMA268 Gt+=< L 0tS2+2 FHI 3 AH(L=300
m) 30,000,000& = 14 30,000
00X =288 ==Z & HISAH(L=1,700m)
200,000,000 14 200,000
O==°1138 0t =2t & Hl 3 At(L=400m)
40,000,000& = 14| 40,000
O %2148 022t HHl S AH(L=400m)
40,000,000& = 14! 40,000
oOg=312l =2 X &3 AH(L=200m)
30,000,000& * 1A 30,000
02232 LHE CCTVARISAH2IHA)
40,000,000 = 14l 40,000
osde =2 Z& 3 AH(L=500m)
70,000,000 = 14! 70,000
OS2 6L FU=SIAAMY HALEHEN
450,000,000& * 4.03% 18,135
03 Al 2 0HHI 3,240 6,048 A 2,808
OS2 6L FUSIMY FE AIER
CHol 450,000,000& * 0.72% 3,240
HYRIZH (F el ANAFHMD) 41,590 75,595 A 34,005
JlE3l 41,590 38,440 3,150
JlE2&l 41,590 38,440 3,150
201 L4l 21,190 19,120 2,070
01 At 22l 20,080 17,920 2,160
OJl=ge=das3H (JI&3Hl)
10,000, 000& 10,000
O=&HI(J1E&HI) 10,080, 000& 10,080
02 =24l 1,110 1,200 A 90
O A& EHl =Xl 1,110
OB =F A 15,000,000 = 1CH * 6% 900
OFX=EAMI KX HI
3,500,000& * 1CH * 6% 210
202 oddl 16,200 15,120 1,080
01 SLHOIYI 16,200 15,120 1,080
OJI&Z 16,200, 000& 16,200
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M HIISES NEctsE &Ed ANE2Y
& =20 ¢adl=E HII2 MelAlE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gZzze28 M2l 23,184,948 14,841,143 8,343,805
= 1,250,000
Al 21,934,948
HOI2S NUJsdle &Ed3 ANd2d 17,796,733 10,388,897 7,407,836
= 1,250,000
Al 16,546,733
=010] QtAlGt=E HIOI2 MelAl&d 17,353,157 9,983, 149 7,370,008
= 1,250,000
Al 16,103,157
FFA LA 2AAL 22 5,034,069 363,353 4,670,716
206 = Hl 4,000 4,000 0
01 M2 4l 4,000 4,000 0
OA2AAEL T MEXNAE Sty 7Y
400 = 10,000kg 4,000
207 RO 146,000 0 146,000
01 A3 39l 146,000 0 146,000
OFFAHZALUAE SEAMY(25D]) MHZE
IS TA EY 126,000,000 126,000
OSAMAEEANS(HIISHMIAL) HE LorAHE
FHES 20,000,000& 20,000
307 glz2tol & 4,779,320 182,500 4,596,820
05 RIZt2IE = 4,779,320 182,500 4,596,820
Os4=% HJIE2 24X HIS
30,000& = 25% » 50& * 120 45,000
OHFABALANL Z& 25D 9% 29
65,0003 * 200& = 30 » 12& 4,680,000
OA2AE 237 HIIEAH R DHLUA HE
HOI2 g Al 140,000& = 97 * 43| 54,320
401 Al HIZ 201 8] 104,749 175,690 AT0,941
01 A& HI 104,000 174,610 AT70,610
oF=zdladsd =& dX&E 10,000,000 10,000
OZ20#33Y ME XY
7,000,000& = 23] 14,000
OZ=20I83SE NHOEEE Ex=3A
40,000,000& 40,000
OF=20/8d 33 A& | 10,000, 000& 10,000
OBFAFALAANL U HEANE 24
30,000,000& 30,000
03 Al SR THHI 749 1,080 A 331
OA &SI 104,000,000& * 0.72% 749
HEs HEgdy 2g2a 687,095 497,615 189,480
201 et 188,952 255,672 266,720
01 At 22l 88,510 105,038 A 16,528
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2N
X ZH -
L= B

el

g2 22
HIIES N3sfotes dSE ANE2S
=010 etMGl=E HIIIES MelAlE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

—JEE (Z) DA
8,230& * 160KW » 1JHA « 123 15,802

—AHEE(Z) DA
7703 « 17KW = 1D « 128 1,463
OFSE=R= 3o 7,572

-LErE ()0 LA
116& = 3,500KW » 1JHA = 128 4,872

A B (2 ) DA
90 * 2,500KW * 1JHZA = 128 2,700
OZZMHEE HIIR=S 839
OoJlges 341
-FEEMH 6,160& = 1JH4A = 123 74

A S (2 M
5,550 * 4KW » 104 « 123 267
omMABRI 498

~regHe

1263 * 200KW = 1A « 123 303

A E(2)Me
813 = 200KW » 1A « 123 195
OXtS XAl 23 HIAl 792
(OFS=-F=3-} 260,000& = 104 = 13l 260
OFE=R=i3— 26,0003 » 20H » 13 52
OUEst=(8.58) 120,000& = 100 = 13l 120
OEXZ(15&) 180,000& = 20H = 13l 360
OIAMERL S (XHE) 1,096
OLrESE 50,880& = 10# = 23l 102
O4idgst=s 71,2303 * 204 = 23] 285
Os8gs2(58) 183,180& = 104 » 23l 367
OUgst=(8.58) 170,540 = 100 = 23l 342
oOXNUEEH= (MY, TE) 2,160
OL28SE 230,000 = 1CH = 13 230
(OFE =313 290,000& = 208 = 13l 580
O=dst=(5E8) 550,000& = 1CH = 13 550
OUEst=(8.58) 800,000& = 1CH = 12l 800
O=ZHl BE= 2,100
O=24D] 2 48 350,000& = 6l = 13l 2,100
oOXtE & SFHH M =2 481
Oxt& 50,000& = 504 = 13l 250
Os &l 38,500& = 601 = 13l 231

ONE & eyl

9413 = 3218 = 8AIZH = 201 » 90 4,066
O &tl =Xl 1,3256& » 2,5002IH = 12& 39,750
O Xt& & Bl 21,431
Osgx 6,551,000& = 1CH 6,551
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2N BESL BABD
2

M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ost=xt 2,976,000& = 5CH 14,880
QU =2l 50,0002 * 504 250
ORHSHHI (WS E CCTV)
220,000& = 123 2,640
203 ¥ S =&l 2,000 2,000 0
03 AIHF=XH R =AH| 2,000 2,000 0
OHJIZE HEZE gR=2 2,000,000& 2,000
206 M= Hl 126,043 124,243 1,800
01 =8l 126,043 124,243 1,800
OMEE U ZH0IS YAAE 83,480
Oy ARLHRK(HEHU)
3,260& * 20L » 50 * 9& 29,340
OHA SHAH(NEE & J&d 1Y)
3,5002! * 20L * 205 * 6% 8,400
OSANEH(NY Y L FEA Xo)
22,0008 * 1L * 305 * 6% 3,960
OYANBH(ZHIS S8R X)
22,0002 = 1L = 408 * 63 5,280
OZAMYY ZHOIS IHEB Y AE(00f
E) 2,500 * 2,300t » 64 34,500
OLNIS F2Y YAAE(HOS)
2,500& * 40004 * 2004 2,000
OZsZE(MEE A2EE HMEHIE)
4002 * 20,000kg 8,000
O=2EE =8=M 13,000& * 1,000m 13,000
ORTM=E (=2 AME)
1,700& = 5000 = 43| 340
O&=E+ 01822 EAE8 111 2,723
Ot 2& A &Z 100A 242,000& = 54 1,210
O3 & 150A 302,500& = 504 1,513
Ozl 2ZA2E 224 UM
5,000,000& = 13l 5,000
ONME & HIIANE KXl 5,500
O ® XS] (4P = 50A) 130,000& * 107K 1,300
Ol & XFEFII (3P * 50A) 46,0003 = 1004 460
Ol = (250W) 74,000& = 1004 740
OXH (3P * 10SQ) 6,000& = 500M 3,000
o3& zel 8,000
OM=HM & &=H 18,0008 * 3004 5,400
OZ8 M8 && =S 20,000& * 30%Z 600
(OF 3=y~ 2,000& = 2502 * 43| 2,000
307 21201 A 5,400 5,400 0
SEEEE] 5,400 5,400 0
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2N BESL BABD
2

dM: HII=2ES Ustote dEF AIE2S
el F0I0| QASHE HIIS HelAlM GO
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ORQ MXHHIAAY EA (AN E)
250,000& = 12& 3,000
ORQ HXZHAMAY EA (A2 ALRA
) 200,000& = 12& 2,400
401 Al Bl & 28I 110,000 107,000 3,000
01 A& HI 110,000 107,000 3,000
O E MEANE =dFXHl
5,000,000& = 14 5,000
OsZ&dl ==&l 30,000
OZ 2 (1993 4l) 10,000,000& * 1CH 10,000
OsJlgx 5,000,000& * 2CH 10,000
O=247] 10,000,000& * 1CH 10,000
O8Es MEX =4 5,000,000& =« 1CH 5,000
OZSGMEE AMAEKRXLE=HI 70,000,000& 70,000
403 MRS E X201 & 250,000 0 250,000
02 SO 2SO HSHAHE X HE At H 250,000 0 250,000
OSHMEE MHEIA HHGE A FLXZA
L AEZSA 250,000, 000& 250,000
405 XH&HE S HI 4,700 3,300 1,400
01 AL EFH S 4,700 3,300 1,400
OFHOIS Y8 Bl PY
2,000,000& = 1CH 2,000
0s3J #< 1,000,000& * 1CH 1,000
O Z EARA HAH2A 72
1,000,000& * 1CH 1,000
O & ACIZelE WA 2
350,000& = 2CH 700
HeEE HdEAL 22 120,000 60,000 60,000
401 AIEHIZ 201 8I 120,000 60,000 60,000
01 A& Bl 120,000 60,000 60,000
OMEEELEANLE RAE2H 120,000,000 120,000
SAESFHIIS ANIAE 2 9,011,993 9,062, 181 A50, 188
207 Ao 2| 10,000 10,000 0
01 A2 E S| 10,000 10,000 0
ORINETAMY (BENAS YL EH L SAS
M0 Meldl &4FE 229 10,000, 000& 10,000
307 gl2tol & 7,734,073 7,695,981 38,092
05 RIZHRIE 3 7,734,073 7,695,981 38,092
OSAMERHIIE HMel 5,718,514
Osal=2 HMaldl 66,7183 * 200 = 3656¢ 4,870,414
OH#=<2Ll H2ldl
140,000& = 15& * 365€ 766,500




2N

2 HII2S KNsce 2eYy ALy
Chol: FRI0| QtAlBlE HIJIE HM2lAlL (ol &)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFE+ =340 340,0008 * 204 » 1202 81,600
OWUXIEAIE X el
29,2119 » 200 * 345 2,015,559
401 A2 HIL 2 TH Yl 1,267,920 6,000 1,261,920
01 Al&H 1,245,240 6,000 1,239,240
OSASXABAIL ZHOIS (AN 1,27) M
T2 MEEY 3,000,0008 * 23] 6,000
OSASUASAIL AHYTAL HE ALY
1,200,000,0008 * 14! 1,200,000
OSASUASAL AHYTAL HEAY &
INE=PEE] ,200,000,0008! * 3.27% 39,240
02 22l 18,360 0 18,360
OSASUASAIL AHUYTANL HAAY 2
AP 2IH] 1,200,000,0008 * 1.53% 18,360
03 Al & 2 Thl 4,320 0 4,320
OSASUASAIL AFHYTAL HEAY Al
820l 1,200,000,0008 * 0.36% 4,320
AHHUUKES =4 2,500,000 0 2,500,000
= 1,250,000
Al 1,250,000
401 A2 HIL 2 THYl 2,500,000 0 2,500,000
= 1,250,000
Al 1,250,000
01 Al&H 2,498,000 0 2,498,000
OXEBBMKES =4 2,498,000,0008! 2,498,000
= 1,249,000
Al 1,249,000
03 Al & 2 Chl 2,000 0 2,000
OXEBHUUXES =4 2,000,000 2,000
= 1,000
Al 1,000
FoXAEAH 29 443,576 405,748 37,828
ZAAANL FUXNVHAM SYX 204,801 168,058 36,743
301 Yt A3 204,801 159,058 45,743
11 JIEt2 &2 204,801 159,058 45,743
OHZH FALANE FUZARE +Y &
243 N2 202,401
O2ZANE FULAQLY ¢ 180,016
~2NQE 2R4g
89,5602 * 5% x 262 122 139,714
-2ARE FY224d
89,5609 * 150% * 5% * 602 40,302
OA2LE FULAQH 23 22,385
-HAEEE 2g3
180,016,000 * 3.035% 5,464
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SN sEBRER NABY
M HIISES NEctsE &Ed ANE2Y
Sel: FOUXREM 2 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
“AIRLYBEE BEHE
5,464,000& * 6.55% 358
-2pI03 223 180,016,0008 * 4.5% 8,101
-D8EH2 $YS 180,016,008 * 1.5% 2,701
~MTHEE2 2Y2 180,016,008 * 3.2% 5,761
OFZAFALLAL FHOS FUAL Y Y
X AHHI 300,000& * 8% 2,400
ZAMEAE FUXEAN 2SS XA 238,775 237,690 1,085
301 et d = 224,775 228,690 A 3,915
MIIEEE=S 224,775 228,690 A 3,915
OFFH ZIAMEE FULANRY =4 & 7
g3 = 222,575
OMEE FUZARHA =Y
57,6803 * 118 = 26 »12& 197,958
OEE 02 ANRE FH3 24,617
-HAEEE RE3
197,958,000& * 3.035% 6,009
“EIIRYdEEE BES
6,009,000& * 6.55% 394
=204z 2E3 197,958,000& * 4.5% 8,909
-NE2Eg 2E3  197,958,000¥ * 1.5% 2,970
-MHEEE €3 197,958,0008 * 3.2% 6,335
OF2ZALA I =4l 200,000& = 11H 2,200
307 glz2+ol & 14,000 9,000 5,000
02 HAFHAANGFEX 14,000 9,000 5,000
OF=d ZFMEE F0ls 2 ASNH
14,000, 000& 14,000
BHSYAY (FY AR NAB2AD) 661,647 540,066 121,581
el 2 gl 631,375 504,186 127,189
ol Al 631,375 504,186 127,189
101 @14 dl 631,375 504,186 127,189
03 RIAHAZ 2T E =+ 631,375 504,186 127,189
ogzacld Ry 576,911
OoJlzs 199,912
-304@ Ol &f 2,173,050& » 2% » 12& 52,154
-25@ Ol&f ~ 279 0O]¢g
2,118,590& » 2% » 12& 50,847
—22@ 0l&af ~ 2494 0O]¢g
2,044,410& « 1H » 128 24,533
-209@ Ol&f ~ 229 0O]¢g
2,010,480& = 3% » 128 72,378
Od0i= 83,927
-JIZ==g  1,907,400& * 8F * 43| * 50% 30,519
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SA: BABRER GRBRAL
M HY YU (F A2 M 2el)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
22 1,907,400& * 8H * 23| * 50% 15,260
-X & Sl
1,907,400% * 8¥ * 53| = 50% 38,148
OFSL = 215,032
-EYS BAA =2
90,000& = 8H » 123 8,640
-y e 70,0003 = 8% » 12& 6,720
B E=Et = P =] 130,000& = 8H » 123 12,480
-tEsg 8,040
- B X 40,000& * 8Y = 128 3,840
=Hl5 20,000& = 169¥ » 123 3,840
AWM AE Orat3
30,000& = 1H » 128 360
NN E R B =, 9,718
- SEM 51,990& = 53 =« 43| 1,040
- SEM 433,880 * 5% x 43| 8,678
2R 169,434
S22f+E
127,8902 * 150% = 8% * 6L = 123 110,497
N2 Z2fE
25,580& * 150% * 16AI2F » 8% * 12 58,937
=l
O=cl=4l 36,222
- MG A 160,000& = 8H » 12& 15,360
-GEFOH
2,173,050 * 60% » 8% » 23 20,862
O=d=Tl 19,680
-9l &l 80,000& = 8% = 12& 7,680
== 50,000& = 8H » 123 4,800
2= 300,000& = 294 = 12& 7,200
OAxts2FIt=Y 138,360& = 8H » 20 22,138
otz &Ll 42 RES 54,464
OAHZEEE B3
438,007,000& * 3.035% 13,294
OFINRAEE 23
13,294,000& * 6.55% 871
O30z BES 438,007,000 = 4.5% 19,711
OnE2Ez 23 438,007,000& * 1.5% 6,571
OtTHEEE 23 438,007,000& * 3.2% 14,017
=l 30,272 35,880 ~5,608
JlE2Ztl 30,272 35,880 25,608
201 YEr2 Y| 14,062 16,400 £2,338
01 At 22l 12,048 13,860 AN1,812
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AN 3222 A 2el
M dY2ILH(Z 22 I 2eln)
gel: D=2 )
. o
SN FH-SA(EN) - MBAY - BES e HlnE2
OJlz2gedZH =3Hl) 6,000,000& 6,000
os2d (JIEHl) 6,048,000& 6,048
02 =224l 2,014 2,540 A 526
oRERS 633
ogeteH# 2703 * 200 54
OosilsH 1,930& * 300 579
OANOIETV=EZ 28,0004 = 304 ~ 123 1,008
O A& EHl s Xl 280
OHdXEAMI RXIHI
3,500,000& * 1CH * 8% 280
OdN3sR= 7,700& « 1CH * 128 93
202 44l 12,960 11,880 1,080
01 SLHOIYI 12,960 11,880 1,080
O=UbI (I gl) 12,960, 000& 12,960
203 YR =&l 3,000 3,000 0
04 FN2ELRZ=TH| 3,000 3,000 0
©J| & X (15210l 5t) 3,000,000& 3,000
405 THobF S| 250 4,600 A 4,350
01 AL ESH SH 250 4,600 A 4,350
OdZBFAT ¢ 250,000& = 1CH 250
HRas(szzees Hezeln) , 726,568 3,912,180 814,388
HEHHKE , 726,568 3,912,180 814,388
HEHH X = , 726,568 3,912,180 814,388
702 JIS2¥ES , 726,568 3,912,180 814,388
01 JI3d&E=3 , 726,568 3,912,180 814,388
OZYHIISHEE FHIESXH =AUXH I
= 686,055
OxFgdaXdg =X Jli=
2,500,000,000& 13| ,500,000
O=tFEMHN E F2UXE =
1,186,055,000& * 13| , 186,055
OFFA ZAUAAANE ZHYFNA FOUX
|3 967,313,000 * 13| 967,313
OSAESTESAIE FHIUASRIUS) €&8II3
60,000,000 = 13l 60,000
OSASXTESAIE FHOIS(Ot2t4e]) LA D]
= 13,200,000& * 13l 13,200
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N = 0] &F AF S & AN A
20168 = S0l A dBHG Y StH2AL 2R SHHMY ~ A 2L ot~ 2l vt
SN BFBRARE SEEHY
Mz Xlotg= 22l
©e: Xote 25 22l EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
stHF2A 22 ot=FH A 19,372,858 21,716,799 N2,343,941
& 88,000
Al 19,284,858
Xlok4 2el 1,040,350 1,118,906 AN T78,556
o= 88,000
Al 952,350
Xloltx B 22| 440,350 368,906 71,444
=} 88,000
Al 352,350
KXot AIEE2 22l 350 48,906 N 48,556
201 et 350 13,906 AN 13,556
01 AP 2t 2] H| 350 850 A 500
O bt=2H| 350
OXote ol28d=a DAAM 7Y
70,0008 = HhE8FA 350
Koty BEX=Y AXAY 440,000 320,000 120,000
o=t 88,000
Al 352,000
401 Al HI L 2 0HHI 440,000 320,000 120,000
o 88,000
Al 352,000
01 Al&H| 436,920 317,696 119,224
OXlot4 EXx2=a A
39,720,000& * 11002 436,920
== 87,384
Al 349,536
03 Al&E 201 Y| 3,080 2,304 776
OXlots BXx2=9 A 3,080,000& 3,080
&< 616
Al 2,464
SsH0ol Xlotx 22 600,000 750,000 A 150,000
KXot ZEelAA8 = ALY 400,000 450,000 A 50,000
403 XX SHHS K20 & 400,000 450,000 A 50,000
02 BI2SOHUSA2EUEAIE Y 400,000 450,000 A 50,000
ORXldtse ZelAlAE x5 AFY 400,000,000 400,000
NP Y 2 XE ZA 200,000 0 200,000
308 XHXIGHHM SO0l & 200,000 0 200,000
10 2| 2SHUSHE A X HE A I 200,000 0 200,000
O=&XN7 &AL £2/XE XZAF 200,000,000 200,000
AR (S =22 Gt4=FH M) 21,200 21,200 0
olad 2 A Y| 21,200 21,200 0
Jl2 &4l 21,200 21,200 0
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SN BFBRRS SHEFM
M dH2ILH(#Z 22 St
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 10,640 10,640 0
01 At 22l 10,640 10,640 0
OJl=ge d&s 2 7,112,000& 7,112
o= (OIEddl) 3,528,000 3,528
202 Odl 7,560 7,560 0
01 = LH 4 Hi 7,560 7,560 0
O=UcbI(IIEZHl) 7,560,000& 7,560
203 YR =& 3,000 3,000 0
04 FN2ELSZ=TH| 3,000 3,000 0
ORN2EYF=AHI 3,000,000& 3,000
HWees(sgdzela:? ot 1) 18,311,308 20,576,693 A2,265,385
UWEAHAXE(SHA=H2E2Y) 11,400,000 11,399,300 700
SHHAGt=XelER2E 283 11,400,000 11,399,300 700
701 JIEtSI HETES 11,400,000 11,399, 300 700
02 BIILELIHZIHNES 11,400,000 10,000, 000 1,400,000
CEEEE RS LTy
1,425,000,000& * 8& 11,400,000
WEHHX = 6,911,308 9,177,393 A2,266,085
JIEtEE3IHEES 6,911,308 9,177,393 A2,266,085
701 JIEtSI HSHES 6,911,308 9,177,393 A 2,266,085
01 JIEtel & &== 6,911,308 9,177,393 A 2,266,085
OHH2AGt=XHMel & S ALY 2,886,425,000& 2,886,425
OsHEOtSot=S HHI AL 214,391,000 214,391
Oot=2) FHIAY 3,159,700, 000& 3,159,700
ONEE=SSHIUAE 200,912,000 200,912
OHIE2Y EXEALE 449,880,000 449,880
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